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&5 X 4 Er%r'n? 'Fﬁﬁﬁ‘(‘z)d)ﬂﬁﬁﬁ jj(:ifn%é X 4 ﬁﬁg’é}i{ﬁfw ‘(.%,r']:c; jj(lf’?fn%é X 4 E.é,r‘n‘c; J:ﬁn“ﬁb\(if)tt‘.%‘ jj(lfl?liqn?)é X 4 J:ﬁﬁ;ﬁ\(‘z)a)tt?%' ‘(r%r‘n? jj(gilzcrf)é
7 100kN/mM%EBZ % - -~ - -|3mEFBZD -~ - -] 100kN/ Mm% % % - ~ -|3mZEi#BR D -~ - - -
s 1.00 | 0.00 ~ 6.76 85.51 | =S | 000 ~ 676 1.73 9.25 st 1.00 | 5.00 ~ 824 85.61 | =nhs | 6,00 ~ 824 1.73 9.25
2 100kN/mM%#BZ 5 - -~ - -|3mEFBZD -~ -] 100kN/m#%#8% % ~ -|3mZEi#BR D -~ - - -
s 1.00 | 0.00 ~ 7.00 8881 | #nkhst | 000 ~ 7.00| 1.76 9.44 zhnLst 1.00 | .00 ~ 871 88.81 | =nhs | 600 ~ 871 1.76 9.44
3 100kN/mM%BZ 5 - -~ - -|3mEFBZD ~ -] 100kN/mM#%#8% % ~ -|3mEi#BR D -~ - - -
s 1.00 | 0.00 ~ 6.56 8274 | #nUS | 000 ~ 6.66| 1.91 10.20 zhnLst 1.00 | .00 ~ 827 82.74 | =hH | 5,00 ~ 827 1.91 10.20
4 100kN/mM%BZ 5 - -~ - -|3mEFBZD ~ -] 100kN/mM#%#8% % ~ -|3mZEiBR D -~ - - -
s 1.00 | 0.00 ~ 4.69 5846 | FnS | 000 ~ 469 | 1.83 9.79 zh st 1.00 | 5.00 ~ 6.00 58.46 | =nL4 | 5.00 ~ 6.00| 1.83 979
5 100kN/ Mm% % - -~ - -|3mEFBZD ~ -] 100kN/m#%#8Z% % ~ -|3mEiBR D -~ - - -
s 1.00 | 0.00 ~ 4.76 59.32 | EnRS | 000 ~ 4.76 | 1.77 947 Zhn st 1.00 | 5.00 ~ 6.00 59.32 | =nhH | 5,00 ~ 6.00)| 1.77 947
P 100kN/mM%#BZ 5 - -~ - -|3mEFBZD ~ -] 100kN/ Mm% % % ~ -|3mZEiBR D -~ - - -
s 1.00 | 0.00 ~ 466 5808 | =St | 0.00 ~ 4.66| 1.91 10.25 zhLst 1.00 | 5.00 ~ 5.20 58.08 | =hs | 5.00 ~ 6.20| 1.91 10.25
7 100kN/mM%BZ 5 - -~ - -|3mEFBZD ~ -] 100kN/m#%#8Z% % ~ -|3mEiBR D -~ - - -
ThLst 1.00 | 0.00 ~ 6.01 75.32 | EhSY | 000 ~ 000 | 1.69 9.04 Fhst 1.00 | 6.00 ~ 6.90 76.32 | EnS | 6,00 ~ 690 1.69 9.04
3 100kN/ Mm% Z 5 - -~ - -|3mE#EER S ~ -| 100kN/mi%#8Z % ~ -|13mFEZ S -~ - - -
ThnLst 1.00 | 0.00 ~ 4.51 56.25 | =nS | 0oo ~ 451|211 11.50 Fhst 1.00 | 6.00 ~ 6.00 56.25 | =hLs | 5,00 ~ 6.00| 211 11.50
9 100kN/ Mm% Z 5 - -~ - -|3mE#EER S ~ -| 100kN/m%#8Z % ~ -|13m#EFEZ S -~ - - -
ThLst 1.00 | 0.00 ~ 397 49.78 | =ns | 000 ~ 397 2.08 11.16 Fhst 1.00 | 6.00 ~ 56.00 49.78 | #=nLS | 5,00 ~ 6.00| 2.08 11.15
100kN/ Mm% Z 5 ~ 3mEBZD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ ZFhLst ~ ZhLst ~ Zhust ~
100kN/ Mm% Z 5 ~ 3mEBZD ~ 100kN/mM%E#Z 5 ~ ImERZD ~
zhs ~ ZzhLst ~ st ~ Zhust ~
100kN/ Mm% Z 5 ~ 3mEBZ D ~ 100kN/mM%E#Z 5 ~ ImERZD ~
Ths ~ st ~ ZhLst ~ Zhust ~
100kN/ Mm% Z 5 ~ 3mEEZD ~ 100kN/mM%E#BZ 5 ~ ImEEZD ~
zhs ~ st ~ ZzhLst ~ Zhust ~
100kN/ Mm% Z 5 ~ 3mEEZD ~ 100kN/mM%E#Z 5 ~ ImERZD ~
zhs ~ st ~ st ~ Zhust ~
100kN/ Mm% Z 5 ~ 3mEEZD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
zhs ~ ZhnLst ~ st ~ Zhust ~




